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public static void Main(string[] args)

{
int[]1 arr_numbers = new int[10];
for (int 1 = 0; i < arr_numbers.Length; ++i) {
Console.WriteLine("Please enter a number: ");
arr_numbers[i] = int.Parse(Console.ReadLine());
}
for (int j=arr_numbers.Length-1;j>0; —-j)
Console.WriteLine(arr_numbers[jl);
}

public static void Main(string[] args)

{
int[] arr_numbers = new int[10];
string[] names = new string[5];
int k = 0;
int n = 1;
while (k < names.Length) {
Console.WriteLine("Please enter a name: ");
names[k] = Console.ReadLine();
arr_numbers[k] = k;
arr_numbers[9 - k] = 9 - k;
n++;
K++;
b
for (int 1=1;l<=names.Length; ++1)
Console.WriteLine(names[l-1]+arr_numbers[2x1-1]);
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The average is 6. Distances are: 1,5,3,-2,-1,0
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